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EJERCICIOS DE MECANISMOS: 

 

1. Calcular la posición del fulcro para equilibrar la palanca. Longitud 8 m. Figura 1 

 

 

 

 

 

2. Cada pieza rectangular tiene un peso de 20 Kg. Calcular hacia dónde se inclina la palanca. Fig. 2 

 

 

 

 

 

 

 

 

3. Calcular el peso de la carga en la romana. Dimensiones en milímetros. Figura 3. 
4. Calcular la fuerza necesaria para levantar el carrillo de la figura 4. 
5. Calcular la fuerza que se debe aplicar a la palanca para levantar la bombona. Figura 5. 
6. Calcular la fuerza que debe ejercer el pescador para sujetar la caña de pesca de la figura 6. 

 

 

 

 

 

 

 

 

 

Nota. Especificar en cada ejercicio el género de palanca. 

 

Figura 1  Figura 2 

Figura 3 

Figura 4 

Figura 5  Figura 6 



Departamento de Tecnología  pág. 2 

7. Calcular la velocidad de la rueda 6. 

 

 

 

1.500 rpm 

 

8. Calcular la velocidad de giro de la última rueda: 

 
 
 
 
 
 
 
 
Velocidad motor: 5.000 rpm 
R1: 40z   R2: 10 cm.  R3: 50 cm.  R4: 10z   R5: 60z 
R6: 50z  R7: 20 cm.  R8: 100 cm. 
 
 
9. Calcular la velocidad de la rueda 4. 
 

R1: 20 cm. 
R2: 80 cm. 
R3: 10 cm. 
R4: 40 cm. 
Velocidad R1: 1.600 rpm 
 
 
 

10. Calcular la fuerza necesaria para equilibrar el sistema. 

 
 
 
300 Kg.                                                                                                                             F 

 
          3m.               1 m.                                                  3 m.                      2 m. 
 
 
 

                                              1m.         2 m. 
 
 
 
 
 
 

 

Rueda 1: 20 cm. 
Rueda 2: 80 cm. 
Rueda 3: 10 cm. 
Rueda 4: 30 cm. 
Rueda 5: 10 dientes 
Rueda 6: 50 dientes 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11. Calcular el peso a colocar en la parte derecha para equilibrar el sistema. 

 
 
 
                                  2 m.                          1 m.                         1 m. 
 
 
                                                                    1 m.                          2 m. 
 
        500 Kg.             1 m.                           1 m.                                                                    F 
 
 
 
12. Rellena el siguiente cuestionario: 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